SAP ABAP table ICLPAYI {Claim Payment Item}

ICLPAYI-PAYMENT = ICLPAY-PAYMENT 0N
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1} - ICLPAYI-TREASON = TICLO66-TREASON

ICLCLAIM
CLIENT [CLNT (3)]
ACTIVE [CHAR (1)]
CLAIM [CHAR (17)]

ICLITEM
CLIENT [CLNT (3)]
ACTIVE [CHAR (1)]
CLAIM [CHAR (17)]
SUBCLAIM [CHAR (3)]
ITEM [CHAR (4)]

ICLPAY
CLIENT [CLNT (3)]
ACTIVE [CHAR (1)]
CLAIM [CHAR (17)]
SUBCLAIM [CHAR (3)]
PAYMENT [NUMC (5)]

ICLSUBCL
CLIENT [CLNT (3)]
ACTIVE [CHAR (1)]
CLAIM [CHAR (17)]
SUBCLAIM [CHAR (3)]

TOO0O
MANDT [CLNT (3)]

TICLO55

CLIENT [CLNT (3)]
BENTYPE [CHAR (10)]
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{0,1}

TICLO66

> . _ICLPAYI-TREASONSET = TICLO67-TREASONSET .N

CLIENT [CLNT (3)]

TREASONSET [CHAR (2)]

TREASON [CHAR (4)]

TICLO67

CLIENT [CLNT (3)]

TREASONSET [CHAR (2)]
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TICL291
CLIENT [CLNT (3)]
CMAREA [CHAR (10)]
PAYITY [CHAR (10)]

TICL551

CLIENT [CLNT (3)]
PYMTYPE [CHAR (4)]

USRO2

MANDT [CLNT (3)]
BNAME [CHAR (12)]




